WA UP ’ %afgr Perect Guadvafi, ¢

@ 1)& +1(L l)& ‘g(,{? 0 @ (xl'gi/i— J‘iaﬂf YZL

\H ('I‘j"IIJ T __,f)
2 & 1] (,18) (,-1¢) (-2, 8]
er)[cx t1a _gj @a(J = 47( £ .f(zij
g 9) Ty -2 Ll
Q2|20 - Geict) -y

L"O hX&L 'l)(&&ff) S 1 L f,‘.aﬁ
’73:@7/ we will be —l;_c;{z \J—!i F) Ean in
/ey

At Fby T e
e need to fnd L nuwmbers T (E’_)'_V)(_(’_{i)j}d
P;i S0 AT j
Al

Pfi:é ;P =

WNoTE? P;j bwre not factrs
i is  Case



_E)f] ﬁl‘:‘{ﬂf é}ll '1LHP'< +Lr

®m [11*-’1’) |, Bm@m ) (4

@) Split the micdle teym
(b B+ B Y
(3) factr B~ and (a5t pair
(Oxt+3y) 4+ (Bx+4)
(et 1)+ q{2)
O Factne st Comton Lctor
(e 1) (2 42) ek

Illr -
bxl +Bx 3% 14
= bz 44 (1)



’1;7('1 factor "L{% 4= +&
fl(lx + Ty - Lf)

MFM%) i8)

® 17 2 =7 J' 42—

(R 38T E (25" NAR NS, YCPP NISNEL )
= *2[%[;&4) + 1(‘4‘%1)] i rz[@?‘l*g?‘} t (—x*%ﬂ
) [%(235:[) o (2:_1)] : ‘1[% ()1 (e

- E(zxﬁb(m%}] ] QD‘XH) (2 (}]

SP&?CW Cﬂgé’— #2
Loy Fec %uff“\féi S




Motice oo %)}“: (1) (aHh) = 6% Fah #ab 4
(atb) =4 12ab b"
{0\_5:‘}1 { é;k& ] o= -ab |- ab i)
foce g) e G +h°
K Tem T
TE he 1 ind st dom are
shue. vevtecs %U&V’Qg e

Checle middle Hermy
T middle term 1S

T2 e

%ﬁ,ﬂ We }/lélbffj 78 /Je.fq[c’c’% gﬁvﬁﬂ‘f

Efé_ Taltor Mty [2x 49

S -



§r :Jﬁklflélﬂef.

!

e | e °
b =1 = 3

Checke middle 3 3 2 (2:)(3)
=@ 1y
(o3

A Fartor B TM&_@ %aé
if’iﬂ(ﬁ& f-2&4+%é>

PN
(= e =2
]ﬂ%:@ :;LL)



Check mddle T (22)(25)

ERAE QQ&JB
_ﬁl&LZ&OleB
_SUM;/M/'%

[\ Lommon nggﬁésr‘

Dief . s
D Sfiﬁ&‘ [ 45 S P{r& -

Chec )| and | {lust

2 R by FC D s what
e drd [45% Clas S



4& b 4 bx +C = ube orat
A E d}’e:‘)! ’@cjﬁy

S Chock 57 MU/%//?/WHC@
Mi orle e
Wed s Duiz s ;{.1>



